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I % 13 (see reerse). The aim is for them to- recalls these facts instantly,
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perhaps yow could hae o fack family of the day. I} yow would, like more ideas; please speak to-
your child's teacher.
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1). Hour mary questions cary they answer correctly inv & minutes? Practise regularly and,
Use memony tricks - For those hard-to-remember facts, www-multiplication.com has some

Up your weekly use of TTRS
Check outs these games too:

P Times tables games - Learn them all here!

P Times tables games and songs 1-12 - BBC Bitesize



https://www.timestables.co.uk/
https://www.bbc.co.uk/bitesize/articles/z97rdnb#z3r3xg8

1x1=1
2x1=2
3x1=3
4x1=4
5x1=5
6x1=6
7x1=7
8x1=8
9x1=9
10x1=10
Mx1=11
12x1=12

1x2=2
2x2=4
3x2=6
4x2=8
5x2=10
6x2=12
7x2=14
8x2=16
9x2=18
10x2=20
1Mx2=22
12x2=24

1x3=3
2x3=6
3x3=9
4x3=12
5x3=15
6x3=18
7x3=21
8x3=24
O9x3=27
10x3=30
11x3=33
12x3=36

1x5=5
2x5=10
3x5=15
4x5=20
5x5=25
6x5=230
7x5=35
8x5=40
9x5=45
10x5=50
11x5=55
12x5=60

Tx
1x7=7
2x7=14
3x7=21
4x7=28
5x7=35
6x7=42
7x7=49
8x7=56
9x7=63
10x7=70
Mx7=77
12x7=84

1x8=8

2x8=16
3x8=24
4x8=32
5x8=40
6x8=48
7x8=56
8x8=64
Ix8=72
10x8 =80
11x8=88
12x8=96

1x9=9
2x9=18
3x9=27
4x9=36
5x9=45
6x9=54
7x9=63
8x9=72
9x9=81
10x9=90
11x9=99
12x9=108

1x10=10
2x10=20
3x10=30
4x10=40
5x10=50
6x10=60
7x10=70
8x10=80
9x10=90
10x10=100
11x10=110
12x10=120

1x11=11
2x11=22
3x11=33
4x11=44
5x11 =56
6x11=66
Tx11=77
8x11=88
9x11=99
10x11=110
1M1x11=121
12x11=132

1x12=12
2x12=24
3x12=36
4x12=48
5x12=60
6x12=72
7x12=84
8x12=96
9x12=108
10x12=120
11x12=132
12x12=144
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20+2=10
22+2=11
24+2=12
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8+8=1
16+8=2
24+-8=3
32+-8=4
40+8=5
48+8=6
56+8=7
64+8=8
72+8=9

on Chart (1-12)
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30+3=10
33+3=11
36+3=12
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72+
81+9=9
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32+
36+4=9
40+4=10
44+4=1
48 +4=12
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10+10=1
20+10=2
30+10=3
40+10=4
50+10=5
60+10=6
70+10=7
80+10=8
90+10=9
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10+5
15+5
20+5=4
25+5=5
30+5=6
35+5=7
40+5=8
45+5=9
50+5=10
55+5=11
60+5=12
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11+11=1
2+11=2
33+11=3
44 +11=4
55+11=5
66+11=6
7+11=7
88+11=8
9+11=9
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0
66 +6 =11
72+6=12

12+12=1
24+12=2
36+12=3
48+12=4
60+12=5
72+12=6
84+12=7
96+12=8
108+12=9

80+8=10
88+8=11
9% +8=12

90+9=10
99 +9 =11
108 -9 =12

100 +10=10
110+10=11
120+10=12

110+11=10
121 +11=11
132+ 11 =12

120+12=10
182+ 12 =11
144 +12 =12




